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	5<2x2<35
2.5<x2<17.5
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	Overtaking speed (Relative speed)

              =80km/h-40km/h=40km/h

Distance= 60m+20m

              =80m
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	6.
	Let no. be XY
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product XY =20---------------(i)

     Reversed no YX
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(10y+x)-(10x+y)=9-----------(ii)
                 
[image: image13.wmf]Þ

9y-9x=9

                      y-x=1

                   
[image: image14.wmf]Þ

y=1+x
Substitution in (i) we’ve

                     x(1+x)=20

                     x+x2=20

                     x2+x-20=0
                     x2+5x-4x-20=0

                     x(x+5)-4(x+5)=0

                      (x+5)(x-4)=0
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	7.
	(a) (x-5)2+(y-5)2=52

      x2-10x+25+y2-10y+25=25

      x2-10x+y2-10y+25=0
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      Let (x,y) be any other point on it 
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	8.
	Area of A = ½ ×4×15=30cm2
Area of B = ½ QR×15

                     ½ QR×15=30

                           QR=4cm

Area of C= ½ ST×PR
                = ½ ST×8=30

                 ST=7.5cm

PT2+PR2=TR2
22.52+82=X2
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=SH. 101,600
	M1

A1
	

	
	
	2
	


	10.
	I=
[image: image20.wmf]100

PRT


   
[image: image21.wmf]250

,

29

.

2

100

5

13

000

,

90

Sh

=

´

´

´

=


A =(90,000+29,250)

    =SH. 119,250
	M1

A1

B1
	

	
	
	3
	

	11.
	32(t+1)+32t=30

32t . 32+32t =30

32t(32+1)=30

32t×10=30
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	13.
	Let 50 shilling notes = x

And 20 shilling coins = y
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 x=3y--------------------------------(i)

      50x+20y=3400--------------------(ii)

Substitute (i) in (ii)
       50(3y)+20y=3400

       150y+20y=3400

       170y=3400
             y=20

             x=3(20)

             x=60
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	45×10=450
45×4=180

Remaining day =270

         No. of days =
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(b) (i) P(RR) or P(WR) or P(BR)
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   (ii) P(RR) or P(WW) or P(BB)
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  (iii) P(RB) or P(WB) or P(BR) or B(BW) or P(BB)
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	18.
	(a) < STQ= < PQS = 280(angle in alternate segment)
(b) < TQU = 
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Reflect < UOQ=3600-1080=2520

(e) < TQR=< TSQ

                 = 1800-(280+350)

                 = 1170
            (angle in alternate segment are equal)
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	(b)
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(ii) 1st 15 seconds
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	(a)
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	(b) Curved surface area

      = 3.142×26.46×40-3.142×10.584×16
      =(3325.5-532.08)cm2
      = 2793.42cm2
	M1M1
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	23.
	(a)  -(x2-2xy+y2)

       -(x2-xy-xy+y2)

       -x(x-y)-y(x-y)

       -(x-y)(x-y)
        -(x-y)2

        = -(3)2
        = -9

(b) 9x2+3xy+3xy+y2
      3x(3x+y)+y(3x+y)

       (3x+y)(3x+y)

       = (3x+y)2
       = 172
       = 289

(c)  3x2-3xy+xy-y2
       3x(x-y)+y(x-y)

       (x-y)(3x+y)

       = 3(17)

       =51

(d)   numerator

        3x2-3xy-xy+y2
        3x(x-y)-y(x-y)
        (x-y)(3x-y)

        Denominator :

        (3x+y)(3x-y)
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	24.
	(a)
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 (b) (i) N200W

       (ii) 5420W

(c)  (i) 6.4×100km=640km

       (ii) 8.8×100km=880km

(d)  (i) 3000
       (ii) 2680
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